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Q1. Choose the correct answer.

1. Awire is stretched by a weight w. If the diameter of the wire is
reduced to half of its previous value, the extension will become:
Four times ¢t (D) One fourth ¢ 2.1 (C)

2. Four wires of same material are stretched by the same load. Their
dimensions are given below. Which of them will elongate most?

3mm=<5,3md (C)

Length 3 m, diameter 3 mm

mm0.5)’~:y5,m48y1 (D)
Length 4 m, diameter 0.5 mm

3. Two metal plates of area 2 and 3 square metres are placed in a liquid
at the same depth. The ratio of pressure on the two plates is:

4:9 (D) 2:3 (C)
4. The pressure at any point in a liquid is proportional to:

L&/ STHEM(C)

Acceleration due to gravity

All of the above L (17 .4~ (D)

5. Pressure applied to an enclosed fluid is:
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Increased in proportional to the
mass of fluid and then transmitted
to each part of the fluid

Transmitted unchanged to every
portion of the fluid and walls of
containing vessel

6. The principle of a hydraulic press is based on:

J16 <4 (D) Jrik 7 (C)
Principle of conservation of  Principle of conservation of energy
momentum

7. When a spring is compressed, what form of energy does it posses?
Heat 3.1~ (D) Internal f £1 (C)

8. What is the force exerted by the atmosphere on a rectangular block
surface of length 50 cm and breadth 40 cm? The atmospheric

pressure is 100 kPa.
500 kN (D) 200 kN (C)

9. An appropriate force applied to a spring can increase its length is
called:

None null (D) Both Aand B null (C)
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Double &% (B) One half -7 (A)
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Length 2 m, diameter 2mm Length 1 m, diameter 1 mm
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Depth of the point below the
surface of the liquid

Density of the liquid

L2, 85" 5

(B) (A)
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< Increased and applied to every

Diminished and transmitted to the part of the fluid

walls of container
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Pascal's law w6 KJ@ (B) Hook's law ¢/56 6 (A)
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< kpa100 2,05 e
100 kN (B) 20kN (A)
9
null
Cause compression null (B) Extension null (A)
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10. The materials are elastic up to a certain limit known as:

Elasticity null (D) Elastic limit null (C)

Q2. Write short answers of the following questions.

I . Why heavy animals like elephant have a large area of the foot?
Il . Why animals like deer who run fast have small area of the foot?
Il . Why is it painful to walk bare footed on pebbles?

IV . State Pascal's law. Give an application of Pascal's law.

V . State what do you mean by elasticity of a solid.

VI . What is Hook's law? Does an object remain elastic beyond elastic
limit? Give reason.

VII . Distinguish between force and pressure.
VIIl . What is the relationship between liquid pressure and the depth of
the liquid?

IX . What is basic principle to measure the atmospheric pressure by a
simple mercury barometer?

X . State the basic principle used in the hydraulic brake system of the
automobiles.

Q3. Write detailed answers of the following questions.
1. What is Hook's law? Give three applications of this law.
2. If the pressure in a hydraulic press is increased by an additional 10 N

cm?, how much extra load will the output platform support if its cross-
sectional area is 50 cm??

10

null

Extension null (B) Deforming force null (A)
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